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It is a parable for >''92%''9 - FITITS 3392 907 9300 bR

Overview

The X713 cites a X173, which discusses the dispute between °"72 °"9 and the 7127,
regarding a father who sold his daughter for an 7°72y7 7nX, and then the father
accepted w1 7P from another person for this same daughter. °"92 >"7 maintains she
is "1wY nwTpn, and the 13127 maintain that the master has the right to be 73> her.
The ®n>92 concludes that this is a >wn to one who says to a woman NWTIPA DR 7
oy "2 R 9, and another was wWpn her during the o1 ™, the rule is that nwmpn
w5, The X3 explained that this Swn is according to °"12 "3, We have here the
same dispute between '01M >"w1 as we had in the previous ndoIN; what does Swn
INX2% mean.

= PWIYN YWD RIT DIVN P91 IR N1 2292 YD) 229N 17‘1\9)1‘,72 V99
»''"w9 explained; from the words of ''92 "' we derive the rule that where he did
not say 1"woyn she is "1 nw7pn, because here by 73°, where the master did not

specify that the 7% should be effective from now, so -
- NIV KD 2133 NI YT 11 9NN TP 23 11751 13T ANRY 102 AWTPY 199 917 2) Yy 9N

Even though the master had a right to be w7pn» the 7nX, with the money he gave
the father, at a later time, nonetheless if another preceded him, the other
person’s w7p is valid, here too where he said o1 " 9nR? °% *wIpna (without

PWOYn), it is no different and she is 1% nwnpn. The X na then asked; 'Rvwo), it is obvious,

for in both cases he did not say 1"w2oyn, so she should be 3% nw7pn. The X3 answered -
-y DY D 1YMNY NI DY MYN 1NN NYYA 1Y 9N XY XA RNDINT 1IN

We could have said, that in the case of T1¥°, the master did not say to the father
when he gave him the purchase money for the 7nX, that I am giving you this
money with the stipulation that she should be 7¥>°n2 to be by the end of the six

years -
- >53uY NYUNPNT O 529 9N 55N DIYN)

So therefore °"12 ' maintains that she is 12 n27pn -
-0y BIUHY INNY *Y MWIPNN MNT NN YaAN

However in a case where the w7pn said explicitly, 217 '» 08> % swIpn: -

Pas ' a.

2 The X071 in our X3 is; DWW IAR? 72 MR X2 K7 (not 17 IARY *» 790w n'"y). See footnote # 10.

? The master did not indicate at all that he intends to be 79™n her, therefore it is possible that initially he had no
intention of being 7y, he changed his mind later, therefore it certainly cannot be considered 1wovn.

* We know for sure that he intends to be w7pPn her (not like by 7137; see footnote # 3).
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- NRWUNN XYM 1YY 1Y 99N YT 23 HY N NN
I could say, that even though the w7pn did not say to her »woyn, nevertheless the

7172 become effective retroactively from now (when he gave her the money) -
— DYWHY 9102 SN¥Y DN PYUNRIY NYTPNM)

And she should be nw7Ip2 to the first one if he still wants to be w7pn her by the

end of the thirty days; this is what I may have thought without the Hwn -
- 1% ANND I5HN MPNA TIPS NN NTNT 11T STTAY TT )9 YPUN NP

The Xn»12 teaches us that the two cases (of Tv° and ™ 2nRY % *wIpnI) are similar
to each other, for since the o2 made the 7w, at a later time, dependent on

these moneys, so -
- Sp95m 19595 1YY DNY 1195213 $3NY 1NAND 5 NIPIYN

Originally when he gave the money to the father, he gave it for this purpose,

that if he will want to be 7¥%3%, he could be Tv% -
- 9UY NYNIPN 1PYIPN 9N XIT 113 2317 19%9N)

And nevertheless since he did not say »way», she is 2wh nwTIPR, the same applies
by "2 nk? °2 *wpni that if he did not say 1woyn, she is 1% nwTpn. This concludes *"wd.

mooIn disagrees with >"wAo:
- %9270 Yy 1259 N2 HWND NN 99193 $9AY XN KD AT w1 "o

This explanation as well is not acceptable, for in the entire X=%3, the >w»

comes to teach and explain the issue being discussed, we do not derive the Ywn from the
issue (as *"w1 is doing here), but rather the >wn teaches us something about the issue.

mooin offers his interpretation:
- 01 0YWHY INRY 1Y 9N NI RN NDINT 170 TPNYS 13939 W9

And the >''1 explained, we would have thought, since he did not say to her

> The 1wy (who said ' InX? *2 *w7pn) always has the option of retracting the w7 up to the thirty days.

% The case of 7 (where he did not say 21 x> *» *w7pn7) is the same as "> x> *> *w7pna. In the case of * "wTpn7
> anRY, the wpn is giving himself (and her) an opportunity to retract the w17 for thirty days. The w17 is not
definite, either if them may retract. By 7w as well, since the 770 allows him to be 7v>» with this money, it is
understood that he is saying; ‘here is the money and I will be 7v>» her (if I so decide) sometime during the next six
years’, just as the w7pn is saying, ‘I will be w7pn her (if I so decide) by the end of thirty days’. We are rejecting the
logic mentioned in footnote # 3.

7 See previous X1 Hwn 71"7 Moo, where N0 also disagreed with *"wAo there regarding '1xn Hwn'.

® This is the same reason moon disagreed with >"w" in the previous 1¥» Swn 77 ‘oM.

? The >"~ maintains that we derive 71> from 121 % *w7pn7, that just as there she is *3% nwTpn, the same rule applies
to Tw>; if the father was PwITP 92pn from another after the 77°07, she is 3w nw7pn. The 8ma asked, Xvwo, there is
seemingly no difference between "> 2nX? *2 *wpna and T, since in both cases he did not say 1wayn. The s'&7m)
answer continues in Md0N.

19 See footnote # 2. This is the X071} in our X3
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father ‘after thirty days’, as in the case of 2 *w7pni -
= PWIYN PUITPN IDINY NINYTT N1 W99 DT 11999
So since he did not specify > 11X, we could say that the master’s intention was

that the 721759 be effective from now (when he gave the money) -
- ANYY AT Y N1YY 1T NI AYY 53 990Y 1aY BIWHY 99910 KW N1 %9V 21PnT

For the fact that the master did not mention 21° 22w is more beneficial to
assume that he meant »woyn, for he is capable to be 7v%"» her at any time he so

desires -
- Zowuipn nR NN AYTH ON)

So if another person was wTp» her after the 77°0n (when the 17X was already

capable of being 7v°» her), we would think that she is not w5 nw7pn, therefore -
$IUY NUNPN NITHA 1PUIYN N X7 1193 1Y ¥nawn Xp

The wn teaches us that since the master did not say explicitly »wsy», she is
WD NWTIPR.

Summary
According to *"w1 we derive that just as by T1¥° (according to >"12 ") if the father

was PWI7p 9apn from someone else after the 77°0n, she is “1wW% nwmpn, the same
applies if someone said to a woman " &> °2 *wTpna and another was wIpn her
before > (the Hwn), she is 1w nwPn (even though he explicitly said °% *wpni).
According to m»oin we derive from the Swn that by 7w as well even though the
master did not limit his TV to any time, nevertheless if someone else was w7pn her
first, she is 1w nwmpn.

Thinking it over

How can m»oin write that (without the Ywn) we would have thought that by 713,
she is not *1w% nwTpPn (according to °"12 1), when the Xn»"2 states clearly that
according to °"12°"9 she is "% nwTIPn; why do we need the Swn1t

" When one says o1 " 2nxY, he indicates that there should be no marriage until after a» "> (not w2yn). However
here since he did not say a time when he will be 7v» her, and he could be 7¥» her whenever he wants, therefore we
can assume that he meant that whenever he is 79 her it should be 1w>yn %n. This is the opposite of >"w who
explained the X"\ that there is more reason to assume w5yn when he said ™ 7nR%, then by 7> where the NX said
nothing. However M201n maintains (that the X"17 is) there is more reason to assume 1"w2¥n, when no time was given,
than when he said explicitly "2 2nx>.

2 See “Thinking it over’.

" See footnote # 12.

" See X"wm.
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